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[if) gyl ehzi 4| 3fizi 7| Mhii 9| 3fLi 5| 2fizi 7| 3fiLi 7| 4NL 3L JEiTA 61 6
It | 8fzi 2| efiz; 4| 50 5| 3fizi 5| 5iri 3| 3L 7| 5(f AfL L 40 29
H | 5fci 5| 5fizi 5| 4fizi 6| 3t 5| 3fizi 5| 5fizi 5| 5 AfL AfL 48 22
T (i 4fri 6| 76z 3| 5z 5| 5z 3| 3fzi 5| 1fizi 9| 6L 3L (VA 46 24
s WY\ 4fzi 6| 3fzi 7| 5hzi 5| 5fizi 3| 5 3| 2fiii 8| 1L 3L 3L 55 9
53] | 2z 8| 2hri 8| 4fri 6| 1fr: 9| 1AL 9| 1P 9| 24 201 3L 72 2
)= gl efri 4| 7hri 3| efri 4| 3fzi 5| 5iri 3| 4ffi 6| 2fir 201 5L 46 25
£ 15| A i 3| 4afii 6| efizi 4| 5z 3| 3fzi 5| 2fii 8| 1L RIA 20 53 13
/I e B9l oefizi 4| 26z 8| 1fzi 9| 3fizi 5| S 3| Ifzi 9| 2% 2L ANE 60 7
& | Afzi 6| 3z 7| 6fzi 4| 3fizi 5| 5 3| 3fzi 7| 5 20 6L 49 20
K syl 6z 9| efri 4| 7hzi 3| 2fri 7| 3fii 5| 5ALi 5| 44 6fir It 52 15
1) H| ofizi 8| i 9| 3fzi 7| Ifizi 9| 3L b| 2fizi 8| 6 1/ RIA 66 3
&) 1Nz 9| 1hri 9| 5fii 5| 5AZi 3| 3fizi 5| 4Ei 6 A 5L 48 21
= JU| 3fzi 7| 5hri 5| 3z 7| 5hri 3| 5fri 3| 4fri 6| 5 2fir 21 52 16
(i JIN 5 b 2fzi 8| 2fizi 8| 5 3| 1fizi 9| Ifizi 9| 2f% AL 147 65 4
= A ofri 1| afri 6| 5hzi 5| 2fri 7| ofii 7| 3fri 7| 3% 47 51 51 18
5 B W| 8z 2| 2fizi 8| 1fizi 9| 5izi 3| 5firi 3| 5iri 5| I 611z iz 52 14
=] J Ml 4fzi 6| 16z 9| 1Az 9| Izi 9| 26 7| I4Zi 9| M 147 PAA 72 1
(L K| ofri 8| ofici 4| efri 4| 2fri 7| 3fizi 5| 2fiti 8| 44 YA PAA 55 10
) B9\ 5{zi b| 5z b| 6fzi 4| 3fzi 5| 5fi 3| 6fLi 4| 6f 6L 6L 38 30
g3 )| e 9| 4fzi 6| 3fzi 7| Ui 9| 1fzi 9| 5fiLi B| AL JEivA RIA 64 5
jiid Rl i 7| 16 9| 2fizi 8| 5 3| 5fzi 3| 6fii 4| 2f% ThE JEiTA 54 11
X s SF| 8fizi 2| 4afii 6| Thi 3| 5fici 3| 2fii 7| 4Afzi 6| 6 5L RIA 43 28
W A S| 3fzi 7| 5hii Bl 4fzi 6| 5fzi 3| 5 3| 2firi 8| 3k JEiTA ¥ivA 54 12
X | 5hri 5| efri 4| 7hri 3| 3fri 5| 5Ari 3| 3Nz 7| 3L 3N L 44 27
H Mgl efr: 4| 56z 5| 4f7: 6| 5ir; 3| 507 3 0 21 32
H g 7hri 3| 7Thri 3| 2fii 8| 2fri 7| 5firi 3| 4fri 6| I 147 27 56 8
ES BN IE VAR I Vv S B (v R 0 0 0 19 33
i B9l 8fzi 2| i 7| 3fzi 7| 5fci 3| i 9| 5f7i 5| 3Mr 6% ¥ivA 50 19
= W 3hri 7| 3hri 7| Ui 9| 5fni 3| 3 5| Thri 3| 3fr 51 51 51 17
R B i 9| 4fii 6| 4afzi 6| 5iii 3| 5fzi 3| 6fici 4| 5L 5L ¥ivA 47 23
[if] 3B M| 207 8| 6fri 4| 2firi 8| 5ir:i 3| 5(r:i 3| 6fii 4| 4% 5L 6L 45 26
871 B 76zi 3| 2fri 8| 2fri 8 0| 50zi 3 0| 14z 31 31
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